

SOME NEW CHARACTERIZATIONS OF THE CONVEX FUNCTIONS

DAN ȘTEFAN MARINESCU¹, MIHAI MONEA², MIHAI OPINCARIU³,
AND MARIAN STROE⁴

ABSTRACT. In this paper we will present some new characterizations of the convex functions and some consequences.

1. INTRODUCTION

The convex functions has a very important role in the mathematical analysis. The first rigorous viewpoint about this concept are presented by J. L. W. E. Jensen in [4]. After more evolutions, today we accept the following definition:

Definition 1.1. Let $I \subset \mathbb{R}$ be an interval. The function $f : I \rightarrow \mathbb{R}$ is convex if

$$f(ax + (1 - a)y) \leq af(x) + (1 - a)f(y),$$

for all $x, y \in I$ and $a \in [0, 1]$.

Starting from this point, the branches of convex functions has been a remarkable development. Some results could be founded in two classic books [12, 13] or in the new monographs like [9] or [1]. More, Borwein and Vanderwerff presents in the first chapter of their book (see [2]) a very interesting arguments for to study the convex functions.

In this context it was a very interesting challenge for more mathematicians to find another characterizations of the convex functions. Today are knows more results like Hermite-Hadamard inequalities, Popoviciu inequalities or others. In this paper, the authors wants to answer to this challenge and they came with some new characterizations of the convex functions.

Firstly, we remind a very useful result which could be founded in [1] or [9]. Let I be a nondegenerate interval from \mathbb{R} .

Key words and phrases. Convex functions, Inequalities.

2010 Mathematics Subject Classification. Primary: 26A51.

Received: January 11, 2013.

Theorem 1.1. *Let $f : I \rightarrow \mathbb{R}$ be a function. For some $a \in I$, we consider the function $s_a : I \setminus \{a\} \rightarrow \mathbb{R}$ defined by*

$$s_a(x) = \frac{f(x) - f(a)}{x - a},$$

for all $x \in I \setminus \{a\}$. If the function f is convex then the function s_a is nondecreasing.

A consequence of this theorem is represented by the next corollary.

Corollary 1.1. *Let $f : I \rightarrow \mathbb{R}$ be a convex function and $a, b, c, d \in I$ so that $a \neq b$, $c \neq d$, $a \leq c$ and $b \leq d$. Then*

$$\frac{f(a) - f(b)}{a - b} \leq \frac{f(c) - f(d)}{c - d}.$$

2. NEW CHARACTERIZATIONS OF THE CONVEX FUNCTIONS

The main results of our paper is represented by the Proposition 2.1 and 2.2 which are follow in this paragraphs. Firstly, for some $u \in I$ we denote $\underline{I}(u) = (-\infty, u] \cap I$ and $\bar{I}(u) = [u, \infty) \cap I$.

Proposition 2.1. *Let $f : I \rightarrow \mathbb{R}$ be a function. The next statements are equivalent*

- (i) *The function f is convex;*
- (ii) *For any $t \in (0, 1)$ and $y \in I$, the function $g : I \rightarrow \mathbb{R}$ defined by*

$$g(x) = tf(x) + (1 - t)f(y) - f(tx + (1 - t)y),$$

for all $x \in I$, is nonincreasing on $\underline{I}(y)$ and nondecreasing on $\bar{I}(y)$;

- (iii) *For any $n \in \mathbb{N}, n \geq 1$, $p_0, p_1, \dots, p_n \in (0, \infty)$ and $x_1, x_2, \dots, x_n \in I$ the function $h : I \rightarrow \mathbb{R}$ defined by*

$$h(x) = p_0f(x) + \sum_{i=1}^n p_i f(x_i) - \left(\sum_{i=0}^n p_i \right) f \left(\frac{p_0x + p_1x_1 + \dots + p_nx_n}{p_0 + p_1 + \dots + p_n} \right)$$

for all $x \in I$, is nonincreasing on $\underline{I}(x_0)$ and nondecreasing on $\bar{I}(x_0)$, where $x_0 = \frac{p_1x_1 + p_2x_2 + \dots + p_nx_n}{p_1 + p_2 + \dots + p_n}$;

- (iv) *For any $n \in \mathbb{N}^*, n \geq 1$, $p_0, p_1, \dots, p_n \in (0, \infty)$ and $x_1, \dots, x_n \in I$, the function $l : I \rightarrow \mathbb{R}$ defined by*

$$l(x) = p_0f(x) + \left(\sum_{i=1}^n p_i \right) \cdot f \left(\frac{\sum_{i=1}^n p_i x_i}{\sum_{i=1}^n p_i} \right) - \left(\sum_{i=0}^n p_i \right) \cdot f \left(\frac{p_0x + p_1x_1 + \dots + p_nx_n}{p_0 + p_1 + \dots + p_n} \right),$$

for all $x \in I$, is nonincreasing on $\underline{I}(x_0)$ and nondecreasing on $\bar{I}(x_0)$, where x_0 has same value like to the previous point.

Proof. We will prove the equivalence (ii) \iff (iv) and the chain of implications (iii) \Rightarrow (ii) \Rightarrow (i) \Rightarrow (iii).

For the part (ii) \Rightarrow (iv), we denote

$$t = \frac{p_0}{p_0 + p_1 + \cdots + p_n}$$

and

$$y = \frac{p_1 x_1 + \cdots + p_n x_n}{p_1 + \cdots + p_n}.$$

Then $t \in (0, 1)$ and $y \in I$. From assertion (ii), the function $s : I \rightarrow \mathbb{R}$ defined by

$$s(x) = tf(x) + (1-t)f(y) - f(tx - (1-t)y)$$

for all $x \in I$, is nonincreasing on $\underline{I}(y)$ and is nondecreasing on $\bar{I}(y)$. We obtain that the function l is satisfying the property from the assertion (iv).

For the part (iv) \Rightarrow (ii), let be $n = 1, p_0 = t \in (0, 1), p_1 = 1 - t$ and $x_1 = y$. Then we have $l = g$ and the conclusion follows if we are using the relation $x_0 = y$.

In same mode we obtain the implication (iii) \Rightarrow (ii).

For the part (ii) \Rightarrow (i), we choose $t \in (0, 1)$, because the case $t \in \{0, 1\}$ is trivial. Let be $x, y \in I$. Then, from the assertion (ii) we obtain $g(x) \geq g(y)$. But $g(y) = 0$ and this implies that $g(x) \geq 0$ and

$$tf(x) + (1-t)f(y) - f(tx + (1-t)y) \geq 0,$$

so the function f is convex.

In the last part of the proof we will prove the implication (i) \Rightarrow (iii). Let be $u, v \in \underline{I}(x_0)$ with $u < v$. Then

$$\begin{aligned} h(u) - h(v) &= \\ &= p_0 [f(u) - f(v)] - \left(\sum_{i=0}^n p_i \right) \left[f \left(\frac{p_0 u + \sum_{i=1}^n p_i x_n}{p_0 + \sum_{i=1}^n p_i} \right) - f \left(\frac{p_0 v + \sum_{i=1}^n p_i x_n}{p_0 + \sum_{i=1}^n p_i} \right) \right] \\ &= p_0 (u - v) \left[\frac{f(u) - f(v)}{u - v} - \frac{f \left(\frac{p_0 u + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n} \right) - f \left(\frac{p_0 v + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n} \right)}{\frac{p_0 u + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n} - \frac{p_0 v + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n}} \right]. \end{aligned}$$

But we have $u < v$,

$$u \leq \frac{p_0 u + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n}$$

and

$$v \leq \frac{p_0 v + p_1 x_1 + \cdots + p_n x_n}{p_0 + p_1 + \cdots + p_n}.$$

Last inequality is true from the definition of x_0 . From Corollary 1.1, we obtain $h(u) - h(v) \geq 0$ and the function h is nonincreasing on $\underline{I}(x_0)$. In same mode we obtain that the function h is nondecreasing on $\bar{I}(x_0)$. \square

A classical results of the mathematical analysis said that the inequalities Hermite-Hadamard characterizes the convex functions when the functions are continuous. For example, we can see the Theorem 3.7.3. from [1]. The next proposition offers a similar characterization.

Proposition 2.2. *Let $f : I \rightarrow \mathbb{R}$ be a continuous function. Then f is a convex function if and only if for all $a_1, a_2, b_1, b_2, c_1, c_2 \in I$ with $a_1 < a_2 \leq b_1 < b_2 \leq c_1 < c_2$ the next inequality is true*

$$(c - a) \cdot \frac{\int_{b_1}^{b_2} f(x) dx}{b_2 - b_1} \leq (c - b) \cdot \frac{\int_{a_1}^{a_2} f(x) dx}{a_2 - a_1} + (b - a) \cdot \frac{\int_{c_1}^{c_2} f(x) dx}{c_2 - c_1}$$

where $a = a_1 + a_2, b = b_1 + b_2, c = c_1 + c_2$.

Proof. For the only if part we use the Hadamard-Hermite inequalities. Then

$$(2.1) \quad (c - a) \cdot \frac{\int_{b_1}^{b_2} f(x) dx}{b_2 - b_1} \leq (c - a) \cdot \frac{f(b_2) + f(b_1)}{2}$$

By using the Corollary 1.1 for $x \in [a_1, a_2]$ we obtain

$$\frac{f(x) - f(b_1)}{x - b_1} \leq \frac{f(b_2) - f(b_1)}{b_2 - b_1}.$$

This relation is equivalent with the next

$$f(x) \geq f(b_1) + \frac{f(b_2) - f(b_1)}{b_2 - b_1} (x - b_1),$$

for all $x \in [a_1, a_2]$. This is true because $x - b_1 < 0$ for all $x \in [a_1, a_2]$.

Then we obtain

$$\begin{aligned} \int_{a_1}^{a_2} f(x) dx &\geq f(b_1) (a_2 - a_1) + \frac{f(b_2) - f(b_1)}{b_2 - b_1} \cdot \frac{(a_2 - b_1)^2 - (a_1 - b_1)^2}{2} \\ &= f(b_1) (a_2 - a_1) + \frac{f(b_2) - f(b_1)}{b_2 - b_1} \cdot \frac{(a_2 - a_1) (a_2 + a_1 - 2b_1)}{2}. \end{aligned}$$

After we divide with $a_2 - a_1$, we have

$$(2.2) \quad \frac{\int_{a_1}^{a_2} f(x) dx}{a_2 - a_1} \geq f(b_1) + \frac{1}{2} (a_2 - 2b_1) \frac{f(b_2) - f(b_1)}{b_2 - b_1}.$$

Similar, for $x \in [c_1, c_2]$, we obtain

$$\frac{f(x) - f(b_1)}{x - b_1} \geq \frac{f(b_2) - f(b_1)}{b_2 - b_1},$$

which is equivalent with

$$f(x) \geq f(b_1) + \frac{f(b_2) - f(b_1)}{b_2 - b_1} (x - b_1),$$

for all $x \in [c_1, c_2]$. After we integrate on the interval $[c_1, c_2]$ and we made the calculus in same mode, we have

$$(2.3) \quad \frac{\int_{c_1}^{c_2} f(x) dx}{c_2 - c_1} \geq f(b_1) + \frac{1}{2} (c_2 - 2b_1) \frac{f(b_2) - f(b_1)}{b_2 - b_1}.$$

By using the relations 2.2 and 2.3 we have

$$\begin{aligned} (c-b) \cdot \frac{\int_{a_1}^{a_2} f(x)dx}{a_2-a_1} + (b-a) \cdot \frac{\int_{c_1}^{c_2} f(x)dx}{c_2-c_1} &\geq \\ &\geq f(b_1)(c-a) + \frac{1}{2} \cdot \frac{f(b_2)-f(b_1)}{b_2-b_1} [(a-2b_1)(c-b) + (c-2b_1)(b-a)] \\ &= f(b_1)(c-a) + \frac{1}{2} \cdot \frac{f(b_2)-f(b_1)}{b_2-b_1} (c-a)(b_2-b_1) = (c-a) \cdot \frac{f(b_2)+f(b_1)}{2}. \end{aligned}$$

Now, we use 2.1 and the conclusion follows.

For the if part, let be $x, y \in I$ with $x < y$ and $t \in (0, 1)$. We denote $z = tx + (1-t)y$. Then $x < z < y$. Let be $\varepsilon > 0$ so that

$$x < x + \varepsilon < z - \varepsilon < z < y - \varepsilon < y.$$

We choose $a_1 = x, a_2 = x + \varepsilon, b_1 = z - \varepsilon, b_2 = z, c_1 = y - \varepsilon, c_2 = y$ and we have

$$(2y - 2x - 2\varepsilon) \cdot \frac{\int_{z-\varepsilon}^z f(t)dt}{\varepsilon} \leq (2y - 2z) \cdot \frac{\int_x^{x+\varepsilon} f(t)dt}{\varepsilon} + (2z - 2x - 2\varepsilon) \cdot \frac{\int_{y-\varepsilon}^y f(t)dt}{\varepsilon}.$$

If we put $\varepsilon \rightarrow 0$, the previous inequalities becomes

$$(y-x) \cdot f(z) \leq (y-z) \cdot f(x) + (z-x) \cdot f(y),$$

equivalent with

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y).$$

These concludes that the function f is convex. \square

Remark 2.1. It is obviously that the only if part of Proposition 2.2 is true without the continuity of the function f .

3. CONSEQUENCES

In this paragraph we will present and prove some consequences of the results from the Proposition 2.1 and 2.2.

Corollary 3.1. [11] *If $f : I \rightarrow \mathbb{R}$ is a convex function then for any $n \in \mathbb{N}, n \geq 3$, for any $a_1, a_2, \dots, a_n \in I$ with $a_1 \leq a_2 \leq \dots \leq a_n$ and for all $p_1, p_2, \dots, p_n \in (0, \infty)$ we have*

$$\begin{aligned} &\frac{p_1 f(a_1) + p_2 f(a_2) + \dots + p_n f(a_n)}{p_1 + p_2 + \dots + p_n} - f\left(\frac{p_1 a_1 + p_2 a_2 + \dots + p_n a_n}{p_1 + p_2 + \dots + p_n}\right) \geq \\ &\geq \frac{(p_1 + p_2) f(a_2) + \dots + p_n f(a_n)}{p_1 + p_2 + \dots + p_n} - f\left(\frac{(p_1 + p_2) a_2 + \dots + p_n a_n}{p_1 + \dots + p_n}\right) \geq \dots \geq \\ &\geq \frac{(p_1 + \dots + p_{n-1}) f(a_{n-1}) + p_n f(a_n)}{p_1 + p_2 + \dots + p_n} - f\left(\frac{(p_1 + \dots + p_{n-1}) a_{n-1} + p_n a_n}{p_1 + p_2 + \dots + p_n}\right) \geq 0. \end{aligned}$$

Proof. We will prove only the first inequality. The others will be obtained by using the mathematical induction. It is easy to see that we need to study only the case $a_1 < a_2 < \dots < a_n$, because the equality case is trivial. From the assertion (iii) of the Proposition 2.1, the function $g : I \rightarrow \mathbb{R}$ defined by

$$g(x) = p_1 f(x) + p_2 f(x) + \dots + p_n f(a_n) - (p_1 + \dots + p_n) f\left(\frac{p_1 x + p_2 a_2 + \dots + p_n a_n}{p_1 + \dots + p_n}\right),$$

for all $x \in I$, is nonincreasing on $\underline{I}(x_0)$, where $x_0 = \frac{p_2 a_2 + \dots + p_n a_n}{p_2 + \dots + p_n}$.

But $a_1 < a_2 < x_0$ and we have $g(a_1) \geq g(a_2)$ and conclusion follows now. \square

Corollary 3.2. [3, 8, 14] *Let a, b be two real numbers with $a < b$ and $f : [a, b] \rightarrow \mathbb{R}$ be a convex function. For some $n \in \mathbb{N}, n \geq 2$, let be $x_1, x_2, \dots, x_n \in [a, b]$ and $p_1, p_2, \dots, p_n \in (0, \infty)$ so that $p_1 + \dots + p_n = 1$. Then*

$$\begin{aligned} p_1 f(x_1) + \dots + p_n f(x_n) - f(p_1 x_1 + \dots + p_n x_n) &\leq \\ &\leq \max \{p f(a) + (1 - p) f(b) - f(p a + (1 - p) b) : p \in]0, 1[\}. \end{aligned}$$

Proof. We apply the assertion (iii) of the Proposition 2.1 for the function $g : [a, b] \rightarrow \mathbb{R}$ defined by

$$g(x) = p_1 f(x) + \dots + p_n f(x_n) - (p_1 + \dots + p_n) \cdot f\left(\frac{p_1 x + \dots + p_n x_n}{p_1 + \dots + p_n}\right),$$

for all $x \in [a, b]$. Then we have

$$g(x) \leq \max \{g(a), g(b)\}$$

and we obtain the conclusion. \square

Corollary 3.3. [6] *Let be $a, b \in \mathbb{R}$ with $a < b$ and $f : [a, b] \rightarrow \mathbb{R}$ be a convex function. Let s, t be two nonnegative real numbers so that $s + t = 1$. Then the next statements hold*

(i) *The function $\varphi_a : [a, b] \rightarrow \mathbb{R}$ defined by*

$$\varphi_a(x) = s f(a) + t f(x) - f(s a + t x)$$

for all $x \in [a, b]$, is nondecreasing;

(ii) *The function $\varphi_b : [a, b] \rightarrow \mathbb{R}$ defined by*

$$\varphi_b(x) = s f(x) + t f(b) - f(s x + t b)$$

for all $x \in [a, b]$, is nonincreasing;

(iii) *We have $s f(x) + t f(y) - f(s x + t y) \leq s f(a) + t f(b) - f(s a + t b)$ for all $x, y \in [a, b]$.*

Proof. The cases $s = 0$ or $t = 0$ are trivial, so that we admit $s, t > 0$. The points (i) and (ii) are consequences of the Proposition 2.1 if we choose $y = a$, respectively b , $t = s$ and $1 - t = v$. For the assertion (iii) we apply (i) and (ii) from this corollary. \square

The following result is representing a particular case of the Theorem 1 from [10].

Corollary 3.4. [10] *Let $f : I \rightarrow \mathbb{R}$ be a convex function and $a_1, a_2, b_1, b_2, c_1, c_2 \in I$ so that $a_1 < a_2 \leq b_1 < b_2 \leq c_1 < c_2$, $b_2 - b_1 = a_2 - a_1 + c_2 - c_1$ and $b_2^2 - b_1^2 = a_2^2 - a_1^2 + c_2^2 - c_1^2$. Then*

$$\int_{b_1}^{b_2} f(x)dx \leq \int_{a_1}^{a_2} f(x)dx + \int_{c_1}^{c_2} f(x)dx.$$

Proof. Using the Proposition 2.2 we obtain

$$(c - a) \cdot \frac{\int_{b_1}^{b_2} f(x)dx}{b_2 - b_1} \leq (c - b) \cdot \frac{\int_{a_1}^{a_2} f(x)dx}{a_2 - a_1} + (b - a) \cdot \frac{\int_{c_1}^{c_2} f(x)dx}{c_2 - c_1},$$

where $a = a_1 + a_2$, $b = b_1 + b_2$, $c = c_1 + c_2$.

From the hypothesis, we have $b_2 - b_1 = a_2 - a_1 + c_2 - c_1$ and $b(b_2 - b_1) = c(c_2 - c_1) + a(a_2 - a_1)$, so

$$\frac{c - b}{a_2 - a_1} = \frac{b - a}{c_2 - c_1} = \frac{c - a}{b_2 - b_1}$$

which concludes our proof. \square

Corollary 3.5. [5] *Let $f : I \rightarrow \mathbb{R}$ be a convex function. Let $a_1, a_2, \dots, a_{2n}, a_{2n+1} \in I$ some real numbers that is forming an arithmetic progression with a positive ration. Then*

$$\int_{a_n}^{a_{n+2}} f(x)dx \leq \int_{a_1}^{a_2} f(x)dx + \int_{a_{2n}}^{a_{2n+1}} f(x)dx.$$

Proof. From the Proposition 2.2 and Remark 2.1 we obtain

$$\begin{aligned} (a_{2n+1} + a_{2n} - a_1 - a_2) \cdot \frac{\int_{a_n}^{a_{n+2}} f(x)dx}{a_{n+2} - a_n} &\leq \\ &\leq (a_{2n+1} + a_{2n} - a_{n+2} - a_n) \cdot \frac{\int_{a_1}^{a_2} f(x)dx}{a_2 - a_1} + (a_{2n+2} + a_n - a_2 - a_1) \cdot \frac{\int_{a_{2n}}^{a_{2n+1}} f(x)dx}{a_{2n+1} - a_{2n}}, \end{aligned}$$

and the conclusion follows after we make the simplification. \square

REFERENCES

- [1] W.W. Breckner, T. Trif, *Convex Functions and Related Functional Equations*, Cluj, University Press.
- [2] J. M. Borwein, J. D. Vanderwerff, *Convex Functions: Constructions, Characterizations and Counterexamples*, Cambridge University Press, 2010
- [3] V. Cârtoaje, *The Best Upper Bound for Jensen's Inequality*, ASMAA **7**(2) (2011), pp. 1-7.
- [4] J. L. W. V. Jensen, *Om konvexe Funktioner og Uligheder mellem Middelvaerdier*, Nyt. Tidsskr. Math. **16B** (1905), 4969.
- [5] D. Ş. Marinescu, *Generalizări ale unor probleme de convexitate*, Gazeta Matematică Nr. **3** (1994), pp. 100-102.
- [6] D. Ş. Marinescu, V. Cornea, *O inegalitate de convexitate*, Revista Matematică din Timișoara Nr. **2** (2009), pp. 3-5.

- [7] D. S. Mitrinović, P. M. Vasić, *Analytic Inequalities*, Springer Verlag, 1970.
- [8] C. P. Niculescu, *Asupra inegalităților de convexitate în absența derivabilității*, Gazeta Matematică Nr. **9** (1998), pp. 329-337.
- [9] C. P. Niculescu, L. E. Persson, *Convex Functions and Their Applications. A Contemporary Approach*. Springer-Verlag, New York, 2006.
- [10] C. P. Niculescu, *On result of G. Bennett*, Bull. Math. Soc. Sci. Math. Roumanie, Tome **54** (102) No. 3, 2011, 261-267.
- [11] F. Popovici, *O rafinare a inegalității Jensen*, Recreații Matematice, Anul X, Nr. **3**, pp. 122-123.
- [12] A. W. Roberts, D. E. Varberg, *Convex Functions*, Academic Press, New York, 1973.
- [13] R. T. Rockafellar, *Convex Analysis*, Princeton University Press, 1970.
- [14] S. Simić, *On an upper Bound for Jensen's inequality*, J. Inequal. Pure. Appl. Math., **10** (2) (2009), Art.60.

¹NATIONAL COLLEGE "IANCU DE HUNEDOARA"
HUNEDOARA,
ROMANIA
E-mail address: marinescuds@gmail.com

²NATIONAL COLLEGE "DECEBAL"
DEVA,
ROMANIA
E-mail address: mihaimonea@yahoo.com

³NATIONAL COLLEGE "AVRAM IANCU"
BRAD,
ROMANIA
E-mail address: opincariumihai@yahoo.com

⁴ECONOMIC COLLEGE "EMANOIL GOJDU"
HUNEDOARA,
ROMANIA
E-mail address: maricu_stroe@yahoo.com